PIH-BER (BEXEIAT)

RoHSE & ¥ s/ M

RIEDY A X% N &
BleHDO7 V¥ XY

=iy A— FLES

<

b

I

[

L
TY

Wi EHH DT V7 —

#hHR:5~7H
fit &1 & 1,000kef
# B RILE-Fv b SS400EY
= m SSEIESMMR (3t)
FELE =@yat—k
| k&3 e [ P52 &=

BEHBOBRCEAZRES L2 EITEY . BAMITRD
RERNCT Vv Hh—EEEHD
BENICH L TREMELE L,

X LHIIEPEEET,

60

o
(a]m)

R — EEHSR
BAMTEOREREDLT v H—EESS OEENICKH LT
DBEIZERENZ1—F—HIZILBELTLET,

&

=2 0X— ~LER

D IBHESBHNICEE
] D-E-WI6X 65 - M16X2.0 65 | 94 | 10 19 24 | 460
| D-E-W16X 75 — M16X2.0 75 | 104 | 10 19 24 | 470
[ i J D-E-W16X 100 |D-E-W16X100-HS | M16X2.0 100 | 129 10 19 24 | 505
! D-E-W16X 130 |D-E-W16X130-HS | M16X2.0 130 | 159 | 10 19 24 | 545
! L1 D-E-W16X 150 |D-E-W16X150-HS | M16X2.0 150 | 179 | 10 19 24 | 570
| 12 D-E-W16X 180 |D-E-W16X180-HS | M16X2.0 180 | 209 | 10 19 24 | 610
' D-E-W16X200 |D-E-W16X200-HS| M16X2.0 200 | 229 | 10 19 24 | 635
! D-E-W20X 100 |D-E-W20X100-HS | M20X2.5 100 | 132 | 13 19 30 | 685
| D-E-W20X 130 |D-E-W20X 130-HS | M20X2.5 130 | 162 | 13 19 30 | 745
FoREA [ ] _ H D-E-W20Xx 150 |D-E-W20Xx 150-HS | M20X2.5 150 | 182 | 13 19 | 30 | 790
ﬂL_ \\ I D-E-W20X 180 |D-E-W20x180-HS| M20X2.5 | 180 | 212 | 13 19 | 30 | 850
= | D-E-W20X 200 |D-E-W20X200-HS | M20X2.5 200 | 232 | 13 19 30 | 890
' 130 ' BEYA XEYETS,

ADJUSTER BOLT





